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‘ €2) THE TOUR DE FRANCE

© MULTIPLE CHOICE

Circle the correct answer for each of the following questions.

In which month does the Tour de France take place?

January May July September

How many teams compete in the Tour de France?

12 18 22 26

In which city does the Tour de France finish?

London Lyon Paris Brussels

When was the Tour de France first held?

1998 1954 1918 1903

Which jersey is awarded to the best rider under the age of 26?

green white yellow polka-dot

Which jersey is awarded to the rider who performs the best on difficult hills and mountains?

green white yellow polka-dot

Who won the Tour de France in 19897

Jacques Anquetil Bernard Hinault Greg LeMond Miguel Indurain

Who won the Tour de France in 19927

Jacques Anquetil Bernard Hinault Greg LeMond Miguel Indurain

Which of the following cyclists admitted using EPO?

Bradley Wiggins Lance Armstrong Phillipe Thys Eddy Merckx

|

What does EPO make the body produce more of?

red blood cells energy oxygen carbohydra;ﬂ
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